17
12

22x3 %5

e

ul

A

.

ull

-

ul

J
=K

il

Bt 2 9 5 #l 2

oFRstel 2




,a %k

SH
=

f@ast Bkn

-

ull

e 2 7t

5

5 Boloo}

=
—

Brol Aolfr 2 &




ﬂaLagﬂqﬂﬂ 28 v
gnie| 9| 2749 7471 grod @

R e

gl
Mol 1 HAE ERhedE RIS of £otuke] o] SAj] 7
UpERd Aolct)

vV V
0x
iy
1
2L

=0.333..- =03, £q0it]= 1 Ho|BEZ &
=0.666--- = 0.6, =& 1 o|B2 g% o= i,

Hatd fwelsh E el e 3ol

wll\') W =




1 _

HEA L <08 < 02 WESE 495 2] I FAA Y 2 UAE
a VA S bet Bl a- b9 e Tt

> CF

[>JHP 4

1 x 3

— _<_

99 5

5 5x 27

— < — < —

4 45 45

whahA] 5 < 5x < 27

l<x< — o|BR o] RS WH}=AAFEL 2, 3,4, 5
ojr}.




5.

ol A5 132 Fool & 22 ARkl 132 FA

ool 47} 05 7 Fl9deh. ol A4S Falolat

> E

> =g 15

xx13-x%x13=05

12 13> 1
X(g—m XX%—O.5
x=15




